December 1942, a PG 2 Campaign by Maarten Folkers

The what if concept and it’s consequences for a defensive campaign

What irritates me most in the SSI defending the Reich campaign is that there are no consequences to a victory. The player wins the winterstorm scenario, but in half a year he is at Kursk, playing Kursk as if Stalingrad had been lost. It gets even worse after the Normandy scenario, where the player overruns three-quarters of the invasion force, and plays Nordwind half a year later. In this campaign I want to follow a different line: exploring what battles would be fought because of the player’s effect on history.

The what if concept and it’s consequences for this campaign

Scenario 1 (Chir map) 18-25 November 1942

At the beginning of the campaign the player takes command of the 22nd Pz division stationed behind the lines of the Romanian army. He has enough prestige to order three fresh infantry divisions to come over to his part of the front. This is the area where the western half of the northern pincer of the Soviet Operation Uranus (encirclement of Stalingrad) stroke. The player can stop this part of the Soviet advance. 

Consequences:

1 However, the Chir map and thus this scenario only covers half of the Romanian north-facing troops on the Don, a German defensive victory on this part of the map would not have prevented the encirclement of Stalingrad because the Soviets also broke through further east. It would however have saved perhaps 75 % of the Romanian troops (also by preventing the encirclement of some 5 Romanian divisions between the pincers), 

2 Also it would have made the position of 6th army in Stalingrad less desperate, probably enabling it to hold on to the bridge at Kalach.

Scenario 2 (Chir map) 7-11 December 1942

A defeat of one of the three major pincers of the attack would off course have provoked a Soviet reaction to strengthen the now much weaker encirclement. In this campaign the red army does not come up with the idea of operation Saturn against the Italian 8th army. Instead it uses some of the mobile formations of the corps facing the Italians to launch a new attack on the player’s forces at the Chir.  

Consequences:
1 The attack on the Italian 8th army that would have started on 16th December is postponed. 2  Operation Winterstorm succeeds. It is assumed that success in Winterstorm would lead to a spontaneous retreat of 6th Army behind the Don. Probably neither Hitler nor Von Paulus would have been able to keep the troops there.

Scenario 3 (Don map) 13 January 1943

The Russians now start the offensive against the Italians and the Hungarians on the Don. The attack on the Hungarians takes place as it did. The attack on the Italians (and the player) is semi historic because it takes place simultaneously with the attack on the Hungarians, instead of on December 16th.   

Consequences:
1 The main part of the Italian 8th Army escapes destruction

2 The Hungarian army is destroyed as it was historically 

3 The Kursk salient is formed

4 Manstein’s Charkov victory takes place normally

5 6th Army is beaten back to the Don

6 Having some infantry to spare the play is transferred to Italy

Scenario 4 (Sicily map) 10 July 1943

With the player and the Alpini corps on Sicily the Germans have a good chance to fend of the allied invasion. This is a historic battle, the allied troops on the map are those that landed in the are at the date. Some of the Italian auxiliaries were also there. The difference is the player’s troops.

Consequences:

1 Destroying the English invasion lets the player turn to the Americans at Gela

Scenario 5 (Gela map) 10 July 1943

The player and all other axis forces team up to throw the Americans back into the sea. This is a historic battle, the American troops on the map are those that have landed in the area and were there at the date. Some of the Italian auxiliaries were also there. The difference is the player’s troops.

Consequences:
1 The Italians continue their attempts to get out of the war

2 The Italian forces are reorganizing 

3 After reorganization of these forces the Germans will at some date be unable to control the

Italians.

4 The allies must exercise invasions by sea and decide to attack Greece as a repetition for Overlord. They conquer Crete, and finally land on the Peloponese where they meet the player again.


Not in the campaign: the eastern front 2 July 1943

The Germans decide to delay Zitadelle because an offensive is far less urgent. With 6th army still around they decide to solve some of the technical problems with their new armor first. This prompts the Russians to launch their offensives, which succeed in pushing the Germans back to the Ostwall, but does not eliminate their Panzer divisions.


Consequences:

1 The German Pz divisions are not destroyed

Scenario 6 (Kharkov map)

Semi-historic: The player takes part in defending against one of the Russian attacks in the Kursk area. The battle is different from history because the original battle took place after the failed German offensive near Kursk. It now takes place around the same date after the Germans canceled Zitadelle and have moved some of the Armor further east. Also one of the Romanian divisions escaping Stalingrad is present.


Consequences:

1 The German armor gets a major victory against the Russians near Kursk, but the

Germans still have to retreat to the Ostwall after the defeats further east. 


Scenario 7 (Korinth map)

After the (hypothetical) allied conquest of Crete which had the advantage of establishing air-bases for bombing Ploesti, they still have to find a way to do something in the war. They therefore decide to take the next logical step and to attack the Peloponese. The player is moved into the area, but is surprised by an airborne assault in his rear, and has to fight his way out of the Peloponese.


Consequences:

1 The oil-fields at Ploesti get bombed as happened in history, but now from Greece

instead of Italy. 

   
2 The allied bombing campaign from Italy to southern Germany is now impossible.  

Scenario 8 (Carentan map)
At the time of operation Overlord the Germans have an extra Pz division (the player’s) available near Carentan. It is able to overrun the Utah beach landing, but that is also about all it can achieve, the other bridgeheads are linked up normally.


Consequences:

1 The Americans have to launch a new offensive to capture Cherbourg, the offensive

 
power of the allied forces is severely handicapped.

Scenario 9 (SSI St. Lo map)
The player faces an offensive by American troops including some that would otherwise have landed at Utah.


Consequences:

1 In this scenario the Germans would have been able to contain the Normandy

bridgehead for a far longer time. 


2 Hitler is killed by the assassination on July 20th. In history Hitler was incredibly

lucky that the bomb was moved by an officer, and that Hitler was leaning over the

table to point at a certain place on the map.  Any change in the history leading up to July 20th, would make it very likely that the attempt on July 20th succeeds.


3 With the army then in control of operations a retreat from Normandy is the sensible

course for the Germans, because the army took heavy losses in Normandy, and would not have been able to drive the allies into the sea. 


4 In the interlude of chaos in the German government, the Italians, the Finns and the

Bulgarians make peace with the allies and revert to neutrality, leaving only the

Slowaks, the Hungarians, Croats and Romanians as allies 


5 The new German government tries to make peace, officially with all opponents, but 

de facto only with the western allies. The allies are however making unacceptable

demands.

Scenario 10 (SSI Arracourt map)
The original SSI scenario in reverse with some changes and the Germans now having far more troops. (a.o. those squandered in Normandy)


Consequences:

1 Much stronger forces than were there historically thwart the allied offensive in the

west.


2 The road to Germany looks much longer.

Scenario 11 (SSI Metz map)
The original SSI scenario in reverse with some changes. Again the player can inflict a bloody repulse on the Americans.


Consequences:
1 With the broken off negotiations between the allies and Germany becoming public, and American losses mounting, isolationist and anti-communist forces in America are openly debating about stopping the war. 

2 Incidents like the refusal of the Soviets to make peace with the Romanians fuel this debate.

3 Churchill’s fears of Soviet domination of Eastern Europe find an ear with Rooseveld

Scenario 12 (SSI Nordwind map)
The original SSI scenario with some changes. Instead of launching an Ardennes offensive, the Germans launch the historical alternative of a small stroke to encircle the American troops further north + Operation Nordwind. Al this to discredit the American government refusing to make peace.  


Consequences:
1 In this political situation the American public gets quite fed up with the casualties now the goal of the war is far less clear. The American government opens negotiations.

Scenario 12 (Dukla map)

Historic battle. This time the Germans might be able to win.


Consequences:
1 At this time the Soviet attack on neutral Bulgaria is the incident that leads to a break in Soviet-western relations, and the western allies making peace. This attack is a historic event: the Bulgarians had never been at war with the Soviet union, and were at peace with everyone at the time. Probably the fact that Churchill had foolishly promised influence to the Russians in Bulgaria made him unable to protest this attack. Still, in a slightly different situation it might have been a major incident. 

Scenario 13 (SSI Seelow map)
The original Seelow heights scenario with some changes


Consequences:
1 The Germans stop the Soviet onslaught and get peace.

2 It might be nice to lengthen this campaign somewhat more, but I lack the maps for it.

